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us and 1, variation included in 2
calculation




go = 1.0 GeV, all g;

Z - ce, dresse level, 66GeV < < 116GV, Iy < 24 PHENIX: Drell-Yon & = 200 GV, 1

vl <22 Raog: Drell-Yan 5 = 62 GeV
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Backup



go = 1.0 GeV, g; = 0.25 GeV

e, dressed lvel, 66GV < < 116GV, ly | < 24 PHENIX: Drell-Yon % = 200 GeV, 12 < |y < 2




go = 1.0 GeV, gs = 0.35 GeV




go = 1.0 GeV, gs = 0.5 GeV

2 - ce, dresse level, 66GeV < g < 116G, [y < 24 PHENIX: Drell-Yon % = 200 GeV, 12 < |y < 2

—— .
0Ge, 4, = 051
82Ga




go = 1.0 GeV, gs =0.75 GeV

e, dressed level, 66GV < my, < 116GV, v PHENIX: Drell-Yon % = 200 GeV, 12 < |y < 2




go = 1.0 GeV, gs = 1.0 GeV

e, dressed level, 66GV < my, < 116GV, v PHENIX: Drell-Yon % = 200 GeV, 12 < |y < 2




go = 1.0 GeV, gs = 1.5 GeV

2 - ce, dresse level, 66GeV < g < 116G, [y < 24 PHENIX: Drell-Yon v = 200 GeV, 12 < |y < 22 Raog: Drell-Yan V2
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